FEH BV QBRI 1{ESY Dffitk T,

B Bl @ IRFEMEIEQ BRSEMIE@
EYES 52 it ELDH BB (2~45) FLH BB (5~9%) ELHELE(1055~)
BE AT BEHR WERT BER BERT WER BE AT WER
A\ [€:279) 377 440
386-878 |APPJ/at—A'—'— FI7HTIA A4 500 =
Yels 7ITRI} 4 o e 154
e ) 3600 3798 3520 3748 3,440 3,648 3.340 3548
386-879 |APPJ/I'—A'—N'— FH7HI4 Ad 5004K X 10 600, : : , ; : 340 :
7rA Hoc 10 (B2) 3,960 4,177 3872 4,122 3,784 4012 3674 3,902
682-652 |Forestway/at™—A—/n"— EX A4 500#% x 5{ff FELHL
677-100 |Forestway/It—~'—n'— EX A4 5004 x 10 BHHE) 3988 _ 4038 3897 3948 3,806 3,858 3715 _ 3.760
(Biid) 4,386 4,441 4,286 4342 4,186 4243 4,086 4,136
677-103 |Forestway/It—~'—n'— EX A3 5004 x 5t Bt 4496 _ 4578 4,405 4,488 4,340 4,458 4255 _ 4,428
(B2) 4,945 5,035 4,845 4,936 4774 4,903 4,680 4,870
677-110 |Forestway/It'—~'—n'— EX B5 5004 x 107 ®BHHE) 3534 _ 3628 3,352 3448 3,280 3418 3215 _ 3,388
(B2) 3,887 3,990 3,687 3792 3,608 3,759 3,536 3.726
677-107 |Forestway/It—~'—n'— EX B4 500# x 57 Bt 3534 _ 3628 3,352 3448 3,280 3418 3215 _ 3,388
(B0 3,887 3,990 3,687 3,792 3,608 3,759 3,536 3.726
677-098 |Forestway/at'—A'—n'— EX A4 500#% (BeiR) 454, 470
(Bid) 499 517
677-101 |Forestway/at'—A"=n'~ EX A3 5004§ (Hiik) [SL LN 1,180
(Bid) 1228 1208
677-104 |Forestway/at'~A'=n'= EX B5 5008 (Hiik) a7, 438
(Bid) 458 481
677-108 |Forestway/at'~A'=n'~ EX B4 5008 (Hiik) 817 888
(Bid) 898 976
apy ) 1278 1350
677-099 |Forestway/at —A'='— EX A4 5004 x 3 218, :
orestway/3t s Bi2) 1.405 1.485
apy ) 2124 2,246
677-102 |Forestway/It'—A"—N"— EX A3 5004 X 2 124, :
orestay oo Bi2) 2,336 2470
ey (BiiR) 1170 1240
677-105 |Forestway/It'—A"—N'— EX B5 5004 X 3 =
orestway Hox i (Bih) 1287 1364
ey (BiiR) 1562 1,668
677-109 |Forestway/It'—A"—N'— EX B4 5004 X 2 =
orestway #ox 2f (Bih) 1.718 1.834
189-465 |Forestway/It'—A—n'= JIF'17) A4 5004 X 10ff (Bik) 3828 i 8731 3,788 3646 S0 3555, St
(Bid) 4210 4,265 4,110 4,166 4,010 4,064 3,910 3,957
189-466 | Forestway/It —A'—\"= JILF'{7 A3 5004% x 5} (B 4336 o adl 4245 e 4225 e 4195, 4268
(Bid) 4,769 4,859 4,669 4,760 4,647 4727 4614 4,694
189-468 |Forestway/It'—~'—N'= /¥ B5 5004 X 10 (Bik) 414, i 3282 3328 3210 5205 3190 G
(Bid) 3,755 3,858 3,555 3,660 3,531 3,627 3,509 3,594
180-467 |Forestway/Tt—A"—n— /"1 B4 5004 x 5 Bt 3414 _ 3,508 3232 3328 3,210 3,298 3190 3,268
(Bid) 3,755 3,858 3,555 3,660 3,531 3,627 3,509 3,594
B (BiiR) 438 440
197-584 |Forestway/It =A== /IF'{9 A4 500 >
orestay 7477 A4 008K (BA) 481 484
NN I (Biik) 1065 1115
197-585 |Forestway/It—A'—N'— /F'199 A3 500 -
orestway T s BR) 1,171 1.226
AT\ = [€:27:9) 420 388
197-586 |Forestway/It'—A'—N'— /F'199 B5 500 -
orestay T " BR) 462 426
T (Biik) 778 816
197-587 |Forestway/at'—A'—N'"= /¥'199 B4 500 =
orestay T " BR) 855 897
= g [€5:27:9) 355 375
658-667 |&E &It~ FHEAS 500 -
BB R #® (BA) 390 412
- . 5 2,637 2,818 2,628 (2F6~) 2,798 (2%6~)
658-666 |7 €t —FIAEAS 5004 x 107 (B = # il
i # " (BiA) 2,900 3,099 2,890 (2f5~) 3077 (2%6~)
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